Unit 5 Review: Triangles
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7) aGEO =aTRI, /G =10x+3y,Z0=55",ZR=5x+8y. Findx and y.
8) aPAC =aBIG, /G =8x+3y, ZA=56°, /B=54°, /[ =5x+8y. Find xandy. 0 o{

9) Decide if the triangle congruent. If so, provide a the shortcut that proves they are congruent. Then, write a congruence

statement.
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Given: AB| |DC and AB = DC \/p % C is the midpoint of AE and DB
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10) Write a two column proof based off the information below (6 points).

Given: (< = Angle) m<A = m<M, RM = FA $ R X
Show: Show triangle F is 1sosceles ~ ~
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1‘{) On a separate piece of paper, prove the following.
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1§) Write a two-column proof.
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Given: C is the midpoint of AE and BD.
Prove: AABC = AEDC
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13 Given A7 =KC. LBIK = 2/BK. 24 = £C ""“‘" ENKM = LLMK, 2L = «N

Prove OABK = ACBJ Prme ANMK = AL KM
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Example 3: Determine the measures of all unknown angies in the figure below:
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165 In Exercises 4-6, find the measures.
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10. Use the diagram to explain
why APQR is isosceles.

P
m 8.x=Rl,y= l(’) 9. PR = QR and QS = RS.
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